51 =E &K N\ i1

AE R T Y 25 (AT Python B9 9 p&CRT Python 4 i R E SR pREC, X 4l
M RB A NSRBI T X E A PR, XL R B sibr B R R G E &
SCHF R BE S 58 RS A2 D RE B9 AURD B . HUEEJIH pR R D RE | BRI KA | RRECRY B A/ 7
2wl T DUTE A e 7 28 67 B R A 0 P ek RO R AT LD BE . (B2 RADEA M IE B A
TR PR S B A B AT B L eR U — R I BB AR

FHP A RE SR UM PN B pR B AR TR — R B AT R s R, A B EEHE Python
FIE SCRRE.

5.1.1 REHIMS

PR £ (Function) f& — AN FH G2l 37 A S48, 2 00T 58 i — 52 D) Al 1 A0 A5 B 1) 8 2 , & —
SRV

FE SL— R s T DATE — A8 5 7 2 09 060 8 22 YR % ek 85, 0 FH I 45 10 AN [] 1Y)
SO AT LA S B N (R £ 40 0 A 38, ] LA AS TR 9 22 A 88 05 rh o T, B DA ee AT A 5K
IACES L X AR ACAS 2 F AT DAk A B R AR B, YW BB T R i, HE AR R P &
AR, BT A IR AL B 4 T RE 2 Bk R s BT, T LA RRECRT AR I A 1% A 4 xR

(6151 4 50%F 3 A1 5.6 A1 8,12 F1 28 >R fix KAH .

AT H] R B R A IR

X, y=3,5
if x >y:
result = x

1

2

3

4 else:

5 result =y
6 print ("3 M 5 M KIE R {}". format (result))
7

8 X, y=26, 8

9

if x >y:

10 result = x
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11 else:
12 result =y
13 print ("6 Ml 8 (Y KM M {}".format (result))
14
15 x, y=12, 28
16 1if x >y:
17 result = x
18 else:
19 result =y
20 print("12 fl 28 A KME R (). format (result))
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def calMax(x,y):
if x >y:
return x
else:

return y

print ("3 5 M KM R (1. format (calMax(3,5)))
print ("6 Ml 8 I KMH N (}".format (calMax (6, 8)))
print ("12 Fl 28 i KIEH {}". format (calMax (12,28)))
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& 5-2 1, calMax 42 H & LIRS > xy /2 M return result
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(1) eRECE IR — %08 ) i — 36 43

207 2 T 3R [0 {E Y eR A5, I R 9 2 pR 3R A . A0 calMax O 1) o
BAHT SR y=calMax(5,8) B H R BOR M{EME AT & v,

AT LI “print ("Max={ }".format (calMax (5,18)))” 15 ) 4 ok H5 % [0 {8 1 45 4 1y
B EHE L
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(%52 #HSFITF .5 50 Mary . John Fl Tom %M i

ARSI T,

)

def printHello(s):
print("Hello " + s+ ", ")

print ("welcome to Chinal!")

printHello ("Mary")
printHello ("John")

~ o s W N

printHello ("Tom")

%P ET 3 478 R printHello O 1Y pREE X, TC bR FGR 01 E (52 Br eR £50R [WHE
None), & 5~7 47 2 BREH A 1EA, BT A printHelloO BR%L 3 K.
PATHRWT .

Hello Mary,
welcome to China!
Hello John,
welcome to China!
Hello Tom,

welcome to China!

(5] 5.3 4 A2 SR AR B0 b B9 R AT 20 A PR AT e

FEFP S8 AU I T .
1 def calMax(x, y):

2 if x >y:

3 result = x

4 else:

5 result =y



return result

a, b = eval (input ("iHFH AR ANE: "))

m = calMax(a, b)

O o J o

10 print("Max={}".format(m))

PATE R AT

HHA A% 5,8
Max=8
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FEFF I AT I, i TR 6 172 pR e X, b2 N3 8 SRR ) JT R thAT . B e i AT i
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_ . W2 A N T
a,b = eval(input("TEHI AP AEL: ") def calMax(x, y): X,y =5,8

@®|ab=58 HHA ifx>y:
@) result =x
©)

m = calMax(a,b) ‘ else:
‘@\ |
result =
&|m=s BRI 8 L Y
return result result =8

print("Max={}".format(m))
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O30T e TR BCH S O TS BE B FTOR I BR DL 16 BUAR B . n bl gk 110, 3L
AR,

@ T8 11016, B0 6, RECH 14 (RIS #EH1 E) .
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1 def toHexStr (hexInt):

2 if 0 <=hexInt <=9:

3 return str (hexInt)

4 else:

5 return chr (ord('A') + hexInt - 10)
6

7 def decToHex (decInt) :

8 hexStr = ""

9 while decInt !=0:

10 hexInt = decInt %16

11 hexStr = toHexStr (hexInt) + hexStr
12 decInt = decInt // 16

13 return hexStr

14

15 decInt = eval (input ("IHH A —A T =% "))
16 hexStr = decToHex (decInt)
17 print ("THERIECO S T SEERIBCH : (1. format (decInt, hexStr))
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3. ZIREEEH
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1 def calGecdLecm(m, n):

2 a, b=m, n

3 if a <b:

4 a, b=Db, a LEWED | PN
5 while b !=0:

6 temp = a $b

7 print ("&H N :", temp)

8 a=b

9 b = temp

10 gcd = a L3 FNYNELE
11 lecm = int(m * n / gcd) # I /INAREEL
12 return gcd, lcm # 23R [l{H

13
14 x, y = eval (input ("IEM AP NEEL "))
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15 z1, z2 = calGedLem(x, y)
16 print ("RKANAEH: (), BAAEE N (). format (z1,22))

r<—a%b

ey
B 55 BEEBREREXAABHRER

T calGedLem O PREGR [T fi K2 29 BRI e /N A5 0W (B (56 12 47) BB AE
FREF I 21,22 IS &5 i 3R GR [FHE G 15 17).,
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AT 9,15

REH: 6

KRB 3

KECH: 0

BRALEN 3, B/NAREE N 45

55 15 A1 16 A4S AT LA 5 A R ARAS Sy B O s e AR TR

15 z = calGedLem(x,y)
16 print ("RANAER: ()}, BAAEE N (1" . format (z[0], z[1]))
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SCIRZD |2
SCSAH MRS B 28 (positional argument)
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%5(

1 >>>def funStu(name, gendor, age, score, city):
2 print ("name=",name)

3 print ("gendor=", gendor)

4 print ("age=", age)

5 print ("score=", score)

6 print("city=",city)

A (T FHASE 2 i UG TE 0 1) R 8008 I A

funStu("Mary", "Female", 18, 98, "Jinan")

B2 TSR L, — AR IS AR T AT )7
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o SRS A AT LA O B

S0

TR

funStu(name="Mary", age=18, gendor="Female",

city="Jinan",

score=98)
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Wz . i,/ funStu ("Mary","Female",18, city="Jinan", %core=98)”#/#|‘_|§5(ﬁ£]
JH R IE R B 2 FT“funStu ("Mary" , "Female", age=18, 98, "Jinan")” 347 BRI Z00H I 2
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from math import sgrt

def f dist(xl,yl, x2,y2):

a,b,c,d = eval (input ("iFH AAR(E : "))

1
2
3
4 return sqrt((xl - x2) ** 2 + (yl - y2) ** 2)
5
6
7 result = f dist(xl=a, x2=Db, yl=c¢, y2=d)
8

print ("F A A EIRKICHEBS M : {: .2F )" . format (result))

FRRSERS 7 A7 98 T dist O BN SR B9 sl 2 B P S 4L
BRI

WAL FR(E:3,8,5,9
P A T B R G BB B8 2 6. 40

52.2 ZHEEINME

SERE T LR TE 218 E BIA{E . W K%L funStu(name, gendor, age, score,
Clty)EPEI’J city B2 FRFAEFERIE T . 206 city BERIME R E N Beijing I 4 1E BR AL
I IR 20 SR B Y S 2 A DB 225 [ S BCHBRAE

BB funStuO B L N

def funStu (name, gendor, age, score, city="Beijing"):

Bl city 38 %€ T ERIME Beijing, H R EOR /] DI AT 72X,

funStu ("Liming", "Male", 19, 87)

BATHRWT

name=Liming
gendor=Male
age=19
score=87

city=Beijing




